on

FRONT

17/8"

©)

©)

CLEAR GASKETS
4 EA. (INCLUDED)

116"

Tl

17/8"

3/16"

-

BACK

M3 X 0.5MM X 18MM
2 EA. (INCLUDED)

M3 X 0.5MM X 21MM
2 EA. (INCLUDED)

M3 X 0.5MM X 28MM
2 EA. (INCLUDED)

—— 7/32" MIN. GAP

3/4"
i
]
\¥ M3 X .056MMX 28MM SCREW
{
5/8"
] f
\¥ M3 X .056MMX 28MM SCREW
{
9/16"
I f
\¥ M3 X .056MMX 21MM SCREW
{
1/2"
l f
\¥ M3 X .056MMX 21MM SCREW
{
3/8"

\¥ M3 X .05MMX 18MM SCREW

2503 E. Ve
PH (800)-421

®

ernon Avenue, Los Angeles, C.A 900581897

~6144 FX: 800-587-7501 www. criaurence.com

NOVBER MFC19

CRL 2" X 2" SQUARE MALL FRONT CLAMP




